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(i) absorption cost of producing one unit of DZ23.
(2)
RN
Yy

3

MR AR A O Tam over »
P 5 7 4 7 2 A 0 3 2 4



VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

VIYY STHL NEZLIALON 0

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

olumnar farmat, using

A 0 4 2 4

2

7

4

7

P 5

costing.

narginal casting
rpti

abs

(c)| Prepare al statement of profit or loss, for February 2018, in




SR HRRHKRK R XX

KKK

VAUV SIHL NI LM

"DONOTWRITEINTHISAREA =

<
‘o
&L
S
e
==
Z
Al
=
o
=
o5 ok
e
oy
20
o ¥

(d) Explain the difference between the two profit or loss figures calculated in (c).
(2)

(Total for Question 1 = 18 marks)
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(i) labour efficiency
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(iv) labour rate
(2)

(v) overhead expenditure variance
(1)

(vi) overhead volume variance.
(2)
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(d) Give one possible reason for each of the following variances calculated in (a).
(3)
Material usage
Labour rate
Overhead expenditure
(Total for Question 2 = 22 marks)
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(@) Prepare the cash budget for each of the three months April to June 2018.The
budget should be in columnar format and all figures should be calculated to the
nearest $.
(12)
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(c) Evaluate Ganymede Ltd’s cash flow position.

(Total for Question 3 = 21 marks)
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(e) Explain why Elara Ltd has chosen the method used to absorb the overheads in the
Packing Department.

(2)

(Total for Question 4 = 20 marks)
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(@) Prepare the process account for February 2018.
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Sk 2 (b) Explain one reason why Thebe Ltd’s method of apportioning joint costs on the
basis of kg of output might not be the most suitable method.
(2)

(c) Suggest two alternative bases for apportioning joint costs between the three
main products.
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(2)
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s 3 (d) Evaluate how effective the current controls are in ensuring that the security and
confidentiality of management information is being maintained.
(5)
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(Total for Question 5 = 19 marks)
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TOTAL FOR PAPER = 100 MARKS
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